N = 0l & At & M A
P0IBT £ 4 5 2us|N Horod
SA: Horel
HE: X0 O MUIA HB(Horp)

Sl EEHO HOE 29 (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
etH 1,734,143 1,719,873 14,270
=0 ghE MHIA MBS (HotH) 454,947 452,677 2,270

SEFe FotH 29 454,947 452,677 2,270
S3SAE L FHHI A2 (HorH) 261,295 259,025 2,270

401 AIEHI L 2 CHYI 178,424 178,424 0

01 A€ HI 178,424 178,424 0
O%US AN 38 0¥ 0 30,000 230,000
Osusel 230t W Jt2= ux 30,000 0 30,000

405 TtotFH S 7,951 5,681 2,270

01 AL ESH SH 7,951 5,681 2,270
omnggs 22 2Adolud 3 & 7,000,000 7,000 4,730 2,270
HE2LZH (HHH) 309,196 297,196 12,000
ol A (Ferd) 203,409 193,409 10,000
ol (Here) 203,409 193,409 10,000
101 1Al 203,409 193,409 10,000

01 2= 49,487 39,487 10,000
OFotd A2 e+9 d & 49,487,000 49,487 39,487 10,000
=3l (Here) 105,787 103,787 2,000
2 (Hetd) 105,787 103,787 2,000
201 LEt2E | 35,236 33,236 2,000

01 AFS2teltl 27,766 25,766 2,000
OJl2+=EHtl 2 & 10,234,000 10,234 9,234 1,000
OJl== &l Z & 4,456,000 4,456 3,456 1,000




